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If x means +, . 5 ’?i.}—s ©
» "Means X, + means + and + means “~then(3-15+19) =8 +6=7_»
\
A -1 l‘ 2 { -2 '.\\\d\l : .‘/’D.Q ’
~ AU 2 14
¢ 4 D 8 31> B
: ; . | v, NS
SSF JAMIA MILLIA ISLAMIA ¥ ageind
. e " ‘ //

lr P mc 5 LN N ial 3 — ...
ans 'division', T means ‘addition’, M means 'subtraction’ and D means

multiplication’, then what will be the value of the expression I2ZM 12D28P7 T
() 2 =12 na8)rAMS.

159
4 B -1 = Ae
C B D 45

Arrange the following words in meaningful sequence
1. Site 2. Pl?n 3. Rent 4.Money 5. Building 6. Construction

A 1.23,654 B 23,6514 @
C 3,4,2,6,5,1 D' 41,2653

A player holds 13 cards of four suits, of which seven are black and six are red.

There are twice as many diamonds as spades and twice as many hearts as

diamonds. How many clubs does he holds?

A 4

Entrance Examination - 2021 -22



The total of the ages 0

f Amar, dehwmmnﬁu
of their ages three years ago ? I
A 71 years B 72 years
C 74 years D 77 years

6 1 100 cats kill 100 mice in 100 days, then 4 cats would kill 4 mice in how many

days ?
A 1 day B R days
C 40 days D 100 days

7 A printer numbers the pages of a book starting with 1 and uses 3189 digits in all
How many pages does the book have? .
A 1000 B 1074

A ¢ 1075 D 1080

§  IfE+ %=1 touches the circlex? + y* = a® , then the point (} .5 ) lies on

A astraight line B  acircle




'lhelengthoflatusracmmofxz—4x—8y+12=0is

A 4 3 <

C
3 D 10

SSF MIA Hll.l.lA ISLAMIA

The normal to the parabola y? = 4x

10

at P(l, 2) meets the parabola again in Q, the

coordinates of Q are
BECS9) - B (9,-6)

C  (9-6) D (-6,-9)

11  The pole of the line Ix + my + n = 0 with respect to the parabola y? = 4ax

is
A (G5 Bz T)
C %’2_:_1 D (1 2al

12 Inanellipse,tbedismncebetweenitsfocusis6andminoraxisis8.‘me

eccentricity is
A 12 B 4/5
c IAS by
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: x* y?
Thelinelx + my + n = 0 is normal to the ellipse ==+ *= =1 4

2 b: (aa_b; 2
a’ o (a*-b*)* B 9—3— + = — )
G S e " m n
a® , b _ (a¥-07) D None
C ;; + ‘: - m:

The eccentricity of the conjugate hyperbola of the hyperbola x? —3y2 _ %

14
vz
A 2 B o~
D 4

£

Wil

SSF JAMIA MILLIA ISLAMIA
. 1 1 7 & 1 . .
15 Ifthe equation - + — = ~+ ——hasreal, equal and opposite sign roots then,

A  x%=3a? B 2= 22

.C 22= 3q? D a? =22

16  The product of three consecutive natural number is divisible by
A 3 B 8

i D 1 \/

2021.08.06 16:18
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19

20

y 21

\Q\r'» *

129

»

The letters of the word COCHIN are permuted and all the permutatio
ns are

arranged in an alphabetical order s in an English dictionary. The number of words

that appear before the word COCHIN is

A
2 B 192

C 96 D WA
SSF JAMIA MILLIA ISLAMIA

Find the direction cosines of a vector 7 which is equally inclined with OX, OY

and OZ are
S ST SO ol T
2 iﬁ'i\/’a"iﬁ A 5 S
=
C +—,+ =, +— D  None of these
vz’ 2 :

The function f(t) = l;;—t increases on the interval

A (0,00) B (e, @)

& (0,e) D  None of these

The differential equation representing the family of curves y? = 2c(x + Vo),

where c is a positive parameter, is of
A Order 1 and degree 3 B Order 2 and degree 3
C Order 1 and degree 2 D  none of these
it nmw-mn-n

»4.«:;%&;@#



25

' —

A y =

tan2a =
19

2
2

C 25

16

The circum-radius and in radius of a triangle 4BC be 10 and 3 units respectively,

The general solution of the differential equation

x? B
" adh

X! D
cxd - )y

<
I

dy 2
T =t

3
y=cx"2+"?

2

-3 X
X Sl
¢ 4

56
33

thenacot A + bcot B + c cot C is equal to

A 13
cC 39

B
D

26

None of these

The value of sin (Ztan‘1 i-) + cos(tan~12v2), is

12
13

14
15

B

D

13
14




The set of values of a for which the equation sin*

X 4+ cos*x
solution, is : = @ has 4

A (0,1) Cuh

3
B (l.;)

C 1,1
S D)

27 b
Ifd,b,¢ are non-coplanar vectors such that (& x b) =& (bxd)= ase xd)=b
. a < :
then |d] + 2|B| — 31¢] is equal to s gl

k\,{’t) "“’ -, \".\ *‘\‘\\osﬁ\

A gesV, 7> o
: B 0 o ,\‘!\,3\'{\ j

oo

< 2 D None of these

28 A unit vector perpendicular to the plane of @ =2i—6j—3k and
2 . Yol |V Sine,

b=4i+3j—3k,is :
1 :‘t o
A -4%(41' + 3j — k) B (2 + 6 — 3k
CE
: * .
C  2(3i + 2j+6k) D ;(2i + 3j — 6k) I 9
‘.‘0“ ‘..-

ifa x (b x €)=b x (@ xd) and [@b¢] # 0, thend x (B x €)isequalto

g 29

A O

c bx¢
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30 Ifthe lines x = ay + bx = &

perpendicular then
A ' o = 1 n aa’' + c¢' =
aa .

C ab+od wab+cd D aa' 4 bb' = ¢gob + de

" lflhelmc: ;.'-_.an .-2- 'm%.

have
A Any value B exactly one value
€ exactly two values D exactly three values

32 The solution set of the inequation [2x — 3|<x-—1,is

A (F)v(i2) B (2

c [32 B
33 Ifa, b, ¢ are positive real n e

1 1 5
logabe+ *mﬁk vy
A 0

c 2

+ dnndx-a'yo-y.z.,

1y
G

4




34

36

37

The number of rea] solutions of the equations
sin(e*) = 2x 4 27%is

A= 40 N Sl B =

D infinitely many

fx+y+2z= 1, then the least value of = + X 4 1is
x y z

A 3 B 9 0404
d«y st
C L o,
27 D 1 {‘(-z)-\
2% a-y

Three set 4, B, CaresuchthatA = B n CandB = C N A, then

SR |
A AcsB B A>B o R
R IR T §
B - -l
C A= B D AicB’ I - S
ll -
y 55

Let A and B be two sets containing four and two elements respectively. Then the

number of subsets of the set A x B, each having at least three elements is

5' X

A 275 B 510
) s

C 219 D 256

(1] I Examination — 2021 - 22




) =3x—5 then f (%)

Iff:R - Risgivenby [ (x
A is given by -3;‘_—5 P
»Q
x+5 %, ’ @'

B is given by ——
does not exist because f'is not one-one

does not exist because fis not onto -

The statement p — (g — p) is equivalent to
A p-@Aq B p—->@®<+«aq

C " p-2>(—9 D p—-(®VQ

W

40 ; .
The amplitude of sinz + i(1 — cos?), is

39

2
a5 B X
15
n
"5 D =

41 Ifthe second term




'QC&C:»--.C.M“W&M&&N* o
O hen G-, +Cyy - 4 (1) Cy = |

Ao B 2.

C n D 2.0

43 %ofhmlq.2°¥o¥i0....casMb
A ) B 2
C : D 0
SSF JAMIA MILLIA ISLAMIA

44 S_dhmq’;l"'a%)‘oaifo * s oqual o

| A leg,2 B leg.?
C lleg.2 D jles.;

a 00
45 lfA-l: a O _then the value of [adiA| s
0

» A & p o

0
[\
D,
0
2
>




non trivial solution

A Contains two elements

C  lsanempty set

47  The probabili
53 Mondays is

2

L

¢ 2

48  The three identical dice are thrown together. The probability that digine

numbers appear on them is
, 2
A 9
R
36

49 Inabox containing 100 bulbs, 10 are defective,

D

B

D

of a sample of 5 bulbs none is defective?
9,5
(33 B

Contains more than tWoele.

Is a singleton set

7

1

ol

© |~

ty that a leap year selected at random contains either 53

SSF JAMIA MILLIA ISLAMIA




52

53

A die is thrown 100 times. lfgettinganevepnumbe}'isconsidemdamdn

vax:iance of the number of success, is
: o

=
cC 10 D 100 :

The coordinates of two points A and B are (3, 4) and (5, -2) respectively. IfPisa

point not lying on any of the coordinate axes such that PA = PB and Area of

triangle PAB =10, then the coordinates of P are

. “- K
S
b AR
A @D B (7,2 Bk ,_,",‘\ "o
C (1, 0) D (0,1) s

If the centroid and circumcentre of a triangle are (3, 3) and (6, 2) respectively,

then the orthocenter is
A (_3’ 5) B ('30 l)
c G- D (99

lfpandp‘bethepcrpendimlmsﬁ'omoriginuponmesmighllina

xsec® + ycosec® = aand xcos® — ysin® = a cos 2 6, then

2
2 B

p* + 4p? = a

A prp =&

D 4p2 + p’2 — 402

' ination - 2021 -22
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i i i *=4y, th |
54 If O is the origin and Q is a variable point on X y mmel%«“‘

point of OQ is
A y2=2x B y2=x
C =y D x*=2y

55 If the sum of the slopes of the lines given by x2 + 2cxy — y2 =

time their product, the ¢ has value
A -2 B -1 4 .
prs Catizhs D I

56 If x2 — 2pxy — y? = 0 and x? — 2qxy — y? = 0 bisect angles be

the each other, then g
| B pq+I=0 D p +pq+q 0
57 'rhe angle

betwee
: nthetangentsdrawnfmmtheongmtotbem
G- +@+1)y=25is

A w3
B /6

C

vivo U200 AlCamerai



59

6l

lhcirclcofctmuantndmsJkpassesthrouwﬁteonglnﬂndmmeu“lh
and B, the locus of the centroid of AOAB is 0

: ’
A xX“ 4+ y? = g2 B x? 4 y? = 2k? —:g‘
C x4 y2 = 32 D  none of these " el

A circle passes through a fixed point A and cuts two perpendiculars straight lines
through A in B and C. If the straight line BC passes through a fixed point (x,, Yi)

the locus of the centre of the circle is

A4 . =

A = = | i B Xy =xy,

C Xy +xy;.2 D Z+Z=
x y

SSF JAMIA MILLIA ISLAMIA

The range of the ﬁmﬁonf(x)-% is equal to

A OD B [0,1)
C (1, x) D (1, ®)
nndwmﬁnmmda&dﬁumnmﬁugpmwMuumﬂwymﬂb
s ; B SN 28 e
percentage error in its area, is = -5 ,,q%» .“;Ts‘

. 2
& 28

1
14




the function f (x) =
grange ' theorem for |2| hﬁ'

B 1
2

D non-existent in the inge

SSF JAMIA MILLIA ISLAMIA

The function f(x) = x3 — 3x,is

63
A Increasing on (-0, -1) U [1, @) and decreasing on (-1,1)
B decreasing on (-, -1) U [1, @) and increasing on (-1,1)
C increasing on (0, @) and decreasing on (-, 0)
D decreasing on (0, ) and increasing on (-, 0)
64 Let (x) = 1+ 2x* + 2%x* + ...+ 2'%x*°  Then, f(x) has
A  more than one minimum B exactly one minimum
none of these

C  at least one maximum D




66

A U@
Q":,(. C If(x))2
. L D
% .
4)
. : 10
67 J, sgn(x- [x]) dx equals
\ - o« A 10
l‘ k) "
- p, C 9
D

If
Jrx)dx = F G, J{f (O dx is equal 1o

Ux)p
f(x)




C prrey o LO@I(X43) L
71 The domain of / (X) = 35005

A R-{1,-2) B (-2, @)

C R-{-1, -2, -3} D (-3, °°)‘{'l.~2)

72 If f: R—R is a function satisfying the property f (2x + 3) f (2x
P
2

for all x € R, then the period of f (x) is

P -» \.o’\
A 2 B 4 >
=4 =1L

C 8 D 12
SSF JAMIA MILLIA ISLAMIA

73 Iff(x) is defined on [0, 1] by the rule f(x) = { ,*, ifx € QandifxgQ

Then, for all x € [O,-1]/(/(x) ) =
A x B -x
€. Txx D 1-x

o U20 - Al Camera S 57T08.0




a*-x% _
IR s s~ -1, then the values of a is

A 1 B 0

(&
@ D None of these

If g(x) = (x2 + 2x + 3)f(x), f(0) = 5 and lim,_ [&)=s

76
- x i) lhen ' <
to SSF JAMIA MILLIA ISLAMIA &' (x)is equay
A 22 8
, C 1 8 D None Of these

77  The function f (x) = X = [x], where [. ] denotes the greatest integer functi
on

Continuous everywhere
Continuous at integer point only

Continuous at non-integer points only

Nowhere continuous

7 Ify = SeC(tan"x),then%atx-—-ns equal t0
1
B

3 1
A =



The curve y — e*™ + x = 0 has a vertical tangent at the point:

A (1, 1) B at no point

C (0, 1) D (1, 0)

80  The surface area of a sphere when its volume is increasing at the sam
€ rate a5 ;
its

radius, is
A ] I 1S s
AL - bl
Y q)‘
C* 4n o R
3 L

SSF JAMIA MILLIA ISLAMIA

&~

81 If z,z; be any two non-zero complex numbers

such  {hy
|21 + 23] = |z1] + |2;|.then arg(z,) - arg(z,) is equal to
A - B —%
€ .0 D =
th

82 If 1,a; a3 .., a1 are n° roots of unity, then the value of (1-a,)(1-
az)(1 - az) ...(1 — anp-) is equal to

A B9 B

N =

P

vivo U20 - Al Camera T ~ 2ozlos.o61619




17 0 :
flogs2 logs (35 3) and logs(5 + 2%~1) are in AP, then the valye of x is
84 If logs & t¥¢
B -1
A 0
D  None of these
e 3

If the first and the n" terms of a G.P. are a and b respectively and P is the product

85'

of the first » terms, then P=

A ab B (ab)"

C (ab)? D (ab)®"
SSF JAMIA MILLIA ISLAMIA

; 1 1 1 "
8 Ifx > Ly > 1,z > 1areinG.P., then T T e

A AP B HP

G GP D  None of these

3] s-m-uwm‘““””




Thesumoftheseries 1 4 3x + 6x" 4 10x" 4+ ... wis

3 :
(1-x)? B on
' ~ 3 )
: ¢ (1en)? D (ton)
[ ‘;‘ . Y
88  Find the missing term in 3, 10, 29, 66, 127, 7
i K
A 164 B 187
C 216 D 218 ; \‘/
SSF JAMIA MILLIA ISLAMIA N\ W
NEW Delr V
89  Find out the wrong term in the following series A
)

3,10, 27,4, 16, 64, 5, 25, 125, ?

A Sunday Tuesday
I' C  Wednesdsy ./ D  Friday

vivo U20 - Al Camera _ | 2021.08.06 16:20
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: 4
o Hou-sc:(}ubage::Ore.? f_. ‘:
A  Rubbish B Gangue C" ' J
c  Sand - = Do :f,\- z
» r / gt I “‘
= A
 seltiheoddone [ O o
A SUWY B MOQS L) g
O AL
A

1f DELHI can be coded as CCIDD, how would you code BOMBAY 2

e \/
A~ AIMTVT B AMIXVS
' f
¢ MIXVSU D  WXYZAX
N=26
& IfA =26, SUN =27, then CAT =? CatT.
- - ¥ .’,‘
¥ A+ 24 B 27
57 D 58
<

% If ?N%AND is written as 1234526 and FRANCE is written as 785291, how is

GREECE coded ?
-
A 381171 B 381191 = ol

C 832252 D 835545




98

99

% : l“
—_—
\ v
: Y e >\ |
Pointing to a gentleman, Deepak said, "His only brother is the father of my

‘daughter’s father." How is the gentleman related to Deepak 7

A Grandfather B Father
C Brother-in-law D Uncle £ -
SSF JAMIA MILLIA ISLAMIA _X.b

Rohan walks a distance of 3 km towards North, then turns to his left and walks
for 2 km. He agam turns left and walks for 3 km. At this point he tums to his left

and walks for 3 km. How many kilometers is he from the starting point?-

A I km B

-

C 3 km D

Read the follovﬁnﬁ arrangement carefully:

Ky
2 knmr -

5 km \ )5

>
-

>

U
RESDAPS3TIQ79B#3IK%UJMW4*J8N

Which one of the following is exactly in the middle between 3 and 1 in the above

A B B K

P

D’ #







